A 9R

2B (AR) 38 () 48 (K) 5H(K) 6H (&)
s Bad —A&Y | |#zs Bndb — A&y | |mas Bmb —A&Y | |#zsa Bmdb —A&Y | |#as Bmdb — A%y
EXRR=E EXRR=E EXRR=E EXS=E EXRS=E
B EEXER 62| | [HEX(BHE-2) 70| [N |ZyRis 30| = |[EEX(ER-E) 700 |F [EEXER) 55
’3 BEX(ER) 68 '/f BEX(EE-B) go| B [guxis 30 ',f BEX(EE-B) 80 ﬁ Kz B 5
B |RHE BE 6 > + |k 05
A |REE B 4 |4 206 | |&EL 206| |4y [UEDULEDY 0] | |BEER(mBHY) 20
o |ERER{EX 05| (g, 7% C - |EHockEGR—L) 10
T |Bsyssn® 280e 3 (B SFENHEFE N 50| v | RIETFLUN—D) 35[ [= 43 206| (& [AB 5
A T [(hEsEnHER 70 WTiE 1.5 (@ Z |phRE 5
2 A 206| |1& S A=A C 1) 5| |V |Beutexzmxsz) 25| [I& IGwoEiE ke 5
f 2 FoTUHA 20| |EL R hsVTEH 15 ; Cehlrd 80 i’ FLLWVEF(RS54R) 0.5
Yy |Em gL @ xam 12| 1z |E03Y 20| | |[BRESHE AP 50| [ |SFEM 1
Z |Bm ttmmLEexem 8| |& [BL 15 |, |[EZE 40| |z [PECAIZRS 15 (A [BE 4
(A)I=UA5F HXRETAY 20 AS 5| |5 () FThKE 1ke 25| |— ANS 10| |y L&S5K 35
4+ [(FB)ULE 3| |7 [BYBECE 1] L |[ZUrE 7 () EPLAIFA 500g 5| |~ | LBE%E 0.8
o [oEcAlel 25| |~ |dEELEFLYL LY 8| |A  [Ryx—= 1| |F (55 1 Bif 04
o [ERIES 15] |7 e 7| [ [Lesw 35| |*
4 AS 10 ; BHEENEFES (1E) 6 g I2Alz( 0.3 " o XA 25| | 43 206
$  [omErusFa soos 8 |1 SLOHA 6| |, |HSFiH 2l | AR 1 gz
L [P35 1 1e BT 20 MM FryT ke 5 v |33 5 |3 |mmitexsmzzz) 20
= L&SKW LINES FE 25| |4 FAESHE 2 |AY Ly Bl 1
& |=E# 3| [V [hRFE 5/ |12 [9RE—Y—R 1 FrRy 30| |[= |E&E 20
U [EE 1| (L [Lesw o6| [V |Les 1|7 [ZRASSHZR 15] |9 [FeAy 20
; HYh 05 g &1 04 |7 [&& 4] (A (A2 7 4L 20
» P 20 |5 BIYET ZLHA 4 ; ZL&S 0.05 '5\ () h—ILa—> 7 )71, FoHHA 15
5 4 |HLET 1[5 [FEravvA 03| |5 [MEECEFLYL oY 8l |1 |AZ 5
E S e v 30 |l K 120 |4 |[=Bk 0.01]| |z v o E=Zv 3
O |hE 20 #BF—X 3| | R I2AIZK 0.2
o [Ee3Y 10 [ [(EEDNL—R 30| |3 Y v £z 0.2
S |pvacs | [ | [Fery 35| |2 T |ysam 05
?) (B HDEEL YL LY 10 ]L} ;7[/ =w5Y 15 7 CFEil 0.5
z 5 ~ FRINT)A 5 L&S5K 1.5
L (&) h—JLa—> 5 Fxavyit 0.3
1) (B 15U 7RLy oy 8 Big 0.4
A cL&S 0.03
a (B)I—F Lk #5Eit 70 FHRE 0.03
< -
Y (LR 8427yl ke 20
1)) (LM & A EE-1ke 20
N (LR EY 1ke 15
I A HITILEY— 20
A ;)BaE 20




A 9R

9l (A) 108 (K 118 (K) 128 (K) 138 (%)
s Bad —AHY | |#zs Bmdb —AHY | |mas Bmdb —A&Y | |#zsa Bmdb —A&Y | |#os Bmdb — A%y
EXRA=E EXRR=E EXRR=E EXKS=E EXKS=E
B |gaxEH-H 70 |2 [2yR/S 50 S |[BEAX(ER-O) 70 |[F A FY HAY M-2 50| [ [HBER(EE-E) 70
I~ lHExER-a) 80 | 7 50 |2/ s0 & [#Esk (F5E- ) so| |7 [UE)Fy mAY[ [n36 70| |F [ER(EFHE-E) 80
v ~ w T [@ry mAy B _100] |¥
=) 206| |-, “°|£EL 206| |4 |4EL 206| |, & |FA 206
Y i | 43 206| |z,
! BFASF 40| |4 |me m-EGELEx2m) 24 (A)B¥anys 50g 50| |~ ATY —OAuMTEBHE 40
A |EE 1|12 [w t-maLexem 16| |&  |%f-1aih 5| |77 |BALSVTF 20| |& |ff-tad 5
= |wnvEbyxE ke 15 _R—av (&M 5| € [UB) hiy—2 8| |~ |#&mIivTF 15| L [thh# 4
‘: EX: 40 Lt A BEVATAT 1ke 15] |© = (LR UEDYKE ke 20 2 = 0.7
; F=F DTIKE (h—IL) 10 &ij EH 35 i’ FrRY 40 4 E¥d 30 ﬁ; L&5K 24
g |I=5 5 | |Leditng 2| g [AZ 0] |z [AZ 7|y |EEHE 2
I [zurEax3x0.3m) 5 (87 [()FIRKE 1ke 25 |v [T 05 E—<> 4| || CEH 05
+  |IzAlz< 05| |1} |HT 20 [ 4 L—X> 1] | R [k 3
& &z 03| | |AB 10 A BagEIHN 25| |B 124l 06| |B
o 07| |F [izai=< 1| [® [Ez 25| (B [£2 03| |7 [Frry 25
f) LeSK 21 : HS45 i 1 é AS 0 |5 [ 05| gy [ZRASHZ 20
FAREZ—Y—X 1.4 = (8RR FryT ke 3 %= L&HL 7 5 INE 1 Ea =w5Y 7
4 =B 1 FAESHE 1 hheE 5 |4 () TR FryT ke 9 o AS 5
g | FEravVA 05| [ | LB 08| |£ |[FHAE 5.5 JREI—Y—R 35| |F  [UE)FIREKRLyS Y 8
ZiRE 01| [C [9RHE—Y—X 07| |~ |[H&E 5 (5 |AL—# 12| |L
F [wyscE 1T |[Fxravys 06| [5 [&EFL £LA 4| |7 | mRESE 1| Y |messexamzsiz 15
fi: ThSA 05 j‘; ai5 03] [t [k 1] |2 [Fvavy 05| |7 [teL 20
&b % 1|5 ZL&S 0.03 = * BiE 05/ |7 FEWLTIFES 10
2z (BE)ZADY 0. 3g 03| |& Fol 20| g |®@ants— e 50| = ) 0.03| (4 DEZAIZRL 10
| + » z |AB 10
T [Rorzoandam migs 7 |15 |y 25| |1 2 [FeRY 25 hh&E 5
EX 20| [L  [Ze3Y 20 || | Jze3Y 25| & (2% 9
A2 7 AZ 7 7 |rs 1|~ [BFL ELRE 4
fh¥E 5 (/) R—)La—y 5 <hao= 5| |t K 110
[ (8~10cm) 5 (Bp)ULE 1.3 (B) D hEDFLYL LY 8
FLLLVEHF(RTAR) 1 (B RBRLY Y 10
BS54 R 0.5 HULRAL GE) B 7
(B MSRX—F 1ke 4 0 30 (LRS00 1ke 20
L&S5K 0.5 & 20
FExravY A 0.3 AS 7
Bis 05 fhE 5
ZL&S 0.03 = 0.2
g ;| 0.1 BS54 8 0.5
B 130 &) MBR—T 1ke 4
L&50 0.5
FELasyA 0.3
BiE 0.3
L&D 0.03
ZFEih 0.1
> 130




A 9R

178 &) 188 (K) 19H (K) 208 (£)
R34 B4 —A&Y | #zz =4 E —AN&Y | |#zs BRf —A&Y | |#xz BR% —A#HY
ERRNE ERRE ERRE ERNE
3 |y 50 |98 [#EEsk (BB 55| = |[HEX(ER-O) 70| |1 [EBEX(ER) 59
S EPAES 50 ;‘; KHE BR 5 % BEX(EE-H) 80| [T |mExE® 65
P E famibk 0.5 ‘; ALY S 9
. R 206/ |5 [#A(2x2mR5(R) 20| (4 aah 206) |4 |bBR 10
I |&EZF 0.7 [z BR 25
= B AHEAS 30| [~ [I2AIZL 0.5 S - B (2 x 20m) (BNIRE) 21| (4 CRLEET ke 8
= B 35| [&E X 10| | & e L EAL (2 x 2om) (BIIRE) 14| |£L iRt 3
=PI 2| A [AB 5| (Y A& 0.7 BiE 0.7
7@ =1+ DK (R—JL) 15 E CRILEET ke 5 'f TASA 4 ?
A AE 7 ZEFH D ) EBL A—Bi = 20| | 43 206
=  |FhE 5| |4 |L&SW 2| |5 |EEfctai 5 (4,
L |EE 05| |z, |LE% 1.3) |1 HitaE 1 [ |me m-gscexem 12
& Y5458 0.5 b 1] (o [4E=E 0.8 £ - KAL (2 x 20m) 8
3 |@®neR—TF 1ke 4| |8 |[FEravys 05| & [zal 08| &€ [&E 1
B lLesw 12| Y [&& 05| [Y  [haum 2| |2 [roAlzel 30
g)’ Bis 0.4 'E ZRE 0.1 f; L£SW 1.8 ;D‘ HELTIES 25
=z lEL&D 0.03| (x bi=pi] 15 |z |[hAcAWBESEm) 15
| |FExravA 03| lig |45 206| (L |[ZHRE 005| |z [AZ 15
7 bl 100 (> Z &= 4 I+ [Eeuvialfs 500g 8
& H [Zp3Y 10| |Z 3 15
(LR ECHHE 15 |2 A 1| A [ZedY 30| |7 |Ledw 4
F [xexy 20| (b [@g—ra—r ] ) A E 30| (£ [ 28
T oL 30 GFLALR 5| |5 |[pyuBcE 1| 5 [cass 07
F |AZ 1 |5 |GDRHESR 05 BAERM 15 [, =LA 6
& T (1x3x0. 3cm) 7| > (B BREBRLYL VY 10| |= FLEH 0.6 |A
A (/) hR—ILa—> 5[ |2 = =28 30
D |HSEH 1|1~ |rrzoascEmme:e 5/ [ |2=Fk=k 30 b 1w 5
7 | EE 05 7|< (B A A 7|l ¥ S 20
T |Le3w 02| | [EZ a0| [P hhE 5
FELavYA 0.2 FoTHA 10 FLbhho (hyh) 05
it 01] |z [FLLLEFRFMR) 0.5 hHE 55
ZL&S 0.03| (v [U35ih 0.5 H#HZ 5
7 (@ hsR—T 1ke 4 ZFL ~LH 4
A LS 1 K 120
7 |ak 0.4
j FEaLYHA 0.3 (&) mEHIA 80
L&D 0.05
= 130
(E)SvoRFvY 15




A 9R

) 25H (k) 26H (K) 278 (&)
Bndb —AHY | #zz =k —AHY i BER% —AHY BER% —AHY
FkHE FKHE FKHE EFRHE
2HE/ 50 (B¢ [gaxEHE-8) 70l [¥F |HEEXER 55/ | [BExEE-8) 70
ET R 50| (P |#EX(EE-B) o] |[& [k#E BRK 5| [ [BExE#E-&) 80
BEn 75 ’ﬁ 7 |mmiex 0s| &
MR 15| |5 |[BaEGExsmRIAR) 20 (} BRESHE (3 X 3enRTAR) 15] 4 [%EL 206
L |EE 35| |4 |EE 08| [z,
43 206 || Cehilrd 30| [~ |BEE 0.8 ASAFDEEE /N 40
T [E2FEVH(2emfE) 20| £ |BEXLTF ke 15| & [BIAEOHEE 60
[ Fsmm= 4| |1 (A 0| (A [Az 7| A
b |stem 5| A [LoC 71| [oEwE e 5| |& [z 25
T |EZ 10| |y |zuvx(x3x0 am 7 BYBIE 2l | L 25
2z |AZ 5 |z, |OMTEHT ke 5| |4 |[CFEH 2| |4 |Ew3Y 20
I EAYAP 4 I2Alz< 05| |z, | LB# 12| |»  [BYBZE 1
N | BSEH 05| B &= 0.2 BB 2| |&  |@ersosrLysay 10
v |&EE 35| [£  |435m 2| [ [Lasw 1.2
=t 3| 12 [mEs 5| ¥ |[2& o1] [ g 5
T e mit mso 5| (2 [o5xm 5 é’) FERAYA 05| 3 [CedLE 30
p L& 01| |7 [pL—m 1] |5 o |EZE 20
< |BiE 03 G HBR—T 1ke 3| [ [&EEL 206| |3 [AZ 7
g L&D 0.02| /v [@®r=rsrFeyT ke 2| | z |FFrE— 7
2 kK 10f |I= [9RE=Y=R 7] | Bl 35| | | 5
v X [LahDY—R 12 [ZedY 10| [P |[h#az 5.5
IZJ' CA)TOvau— EiE ke 30| |L L&S5K 1 ?_ IMNREE 10 . HHZ 5
| [eTE 05 HSESHE il 12 [Az 5| [ [EFL LA 4
F¥Y4 450g 1 i_ (B BEF LKLy 10| [ [& 110
= |[R—ar(Em 5 Bit 07| |= LY
| BEVAFAT ke 18 ZL&S 0.04| | A |RoLzaLGammEs 5[ [®
P 30 FELasYA 05| |Y (LRSS ke 20| |D
[ FNpRRy 20 2 gs| | [E=& 20| |#
T [z 10 g ¥ 3 {_;
»  [EBY 2 G 206| (7 [Flbrd(hyh) 08| |
Y355 0.5 [ Y3545 0.5
(B FTRKE Tke 15 (8)iBEIVIR 1| |7 [@®sszx—F 1ke 4
(B MBR—F 1kg 4 Fry 25 L&5W 0.8
FASESHE 1 =p5Y 2| |7 |&i& 05
BiE 0.6 A 7 ;L ZL&S 0.03
L&D 0.03 (B ELERLYS LY 8 FExravy A 05
FEoavY A 0.5 CFimh 0.3
o—yzxT 0.1 INEFL 4 = 140
& 100
(@) F—X @i 135




308 (AH)
s Bad — A%y
RN E
- R/ 50
[ EPAAY 50
~
o a4 206
&+ A9 M- AL (2 x 1om) 9
o |mm st-msLexim 6
AR BVAITAE 1ke 15
? FrAY 30
> & 25
L |AB 15
7 0" EPLAIFA 500g 5
2 pqd=D] 3
o—yT 0.1
I’)J Y55 1
| (R)MHHRA—T 1kg 4
5  |BRESE 1
L [ FEaVVA 0.5
Z  |BiE 0.5
N e 0.03
= 80
i E A2 F—Fedtift (2cm) 30
& 10
3545 15
() BOETSARKTH 25
-4l 3
(B) b FryT kg 3
hL—% 0.1
JRA—Y—R 2
HYA 1
7K 5

A 9R



